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Consider the circuit shown in the figure.
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a) Calculate the current in 5 Q resistor.
b) What power is dissipated by the entire circuit?
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Three batteries of emf ¢, =8V, €, =12V, and €, =2V are connected with five
resistors in a circuit as shown in the figure.
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a) Find the current I flowing in the circuit.
b) Find the potential difference between points A and B, Vg -V, .
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A capacitor C that is initially uncharged is connected in series with a resistor R and
emf source € =120V. Just after the circuit is completed, the current through the

resistor is 6x107° A. The time constant for the circuit is 10s.
Find the resistance of the resistor and the capacitance of the capacitor.
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In the circuit shown in the figure, the capacitor is originally uncharged with switch
open. At t=0 the switch is closed.

E«‘r‘ c L L

Rz

o /ts . T

a) What is the current supplied by the emf just after the switch is closed?
b) What is the current long time after the switch is closed?

CZ) Ai t=o we can :';/)Z,o‘rfi quoc.'far ano( the crrcuit 75 )/,ke belos e
.

T T X

5 R\ R i 4 ’
I\e = _______',Z,-—» £ YT
7" TR Ry Ry R

T 2
I; E__ R+Re g )

d I =os In This
' b) /].5 t P 1he CQ)QOC;’}OV A(OCor».p:; ?/q//,‘y C%JZ?(O( a )
C /
+he Civeurt bf’Co}“"’r‘ﬁﬁ.‘

Case T

i )
7

- e _é)‘ R
[ e _‘ 2




PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2011
College of Sciences
Section 5 Quiz 5 24 March 2011

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:
In the circuit shown in the figure, if R=50Q and I=20mA, determines .
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